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KNSTRUCTIONS

and each question has 20 marks. Total possible mark is 100.

\

Answer ALL the questions in Section A and any Three questions from Section B

Start each question on a new page on your answer sheet.

\Themarks allocated to each question are shown at the end of the section.

/
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Section A (40 Marks)

Answer all questions in this Section

1. Solve the equation: S=P(1+rt ) fort [3]
2. Solve the equation: 6n —2(n +1) = 26 [4]
3. Solve the equation: 1.4( 0.2x + 1.3) = 0.5(0.1x + 4.56) (4]
4. Solve %x-a - ng_l [5]
5. Find the equation of the line that passes through the point (-2 , 5) and has a slope of -4
[3]
6. Find the equation of the line that passes through the points (0, -1) and (3, 5).
[3]
7. Find the slope of the line given by the equation -2Xx+4y=6 [3]
8. Find an equation of the line that passes through the point (-2, 3) and is parallel to the line
4x+4y=8 [5]
9. Find an equation of the line that passes through the point (0, - 3) and is perpendicular to
the line-x+y=2. [5]

10. Suppose the weekly revenue for a company is given by r = -2p?+ 400p where p is the
price of their product. What is the price of their product if the weekly revenue is $18,750?

[5]
Section B

Answer any three questions in this Section

11. Simple and Compound Interest

a) Susan deposits $2000 into her savings account. What is her balance after she earns 7%

simple interest for 6 years? [3]

b) Find the total amount in your account if you start with $750 at 7.5% interest for 2.5
years [3]

c) How much should you invest at 7% to have $200 after 5 years? [4]

d) You deposit $1200 into an account that earns 3.8% interest compounded annually. Find
the balance after 5 years. [5]

e) Max borrows $3500 for a new car. The loan has 6.7% interest that will be compounded
annually. How much money will he owe after 36 months? [5]

12. Demand, Total Revenue and Maximisation

a) Suppose that a manufacturer will place 1000 units of a product on the market when the
price is $10 per unit, and 1400 units when the price is $12 per unit. Find the supply
equation for the product assuming the price p and quantity g are linearly related.

[5]
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b) Suppose the cost to produce 100 units of a product is $5000, and the cost to produce
125 units is $6000. If cost c is linearly related to output g, find an equation relating ¢ and
q. (5]

c) The demand per week for a new automobile is 400 units when the price is $16,700 each
and 500 units when the price is $14,900 each. Find the demand equation for the cars,
assuming that it is linear. [5]

d) The demand function for an appliance company’s line of washing machines is p = 300 -
5g, where p is the price (in dollars) per unit when g units are demanded (per week) by
consumers. Find the level of production that will maximize the manufacturer’s total
revenue, and determine this revenue. [5]

13. Logarithmic and exponential functions

a) Given that log 2 ~0.3010, log 3 = 0.4771, and log 5 = 0.6990, use the laws of logarithms

to find :

i. log15 [2]
ii. log7.5 [2]
iii.  log 50 [2]
iv. log8l [2]

b) Use the properties of logarithms to solve the equation for x:
log x + log (2x-1) =log 6 [6]
C) 2e*?2=5 [6]

14. Equations

a) Solve the following system algebraically: 3x-4y =18 [3]
2x+5y=-11
b) Solve: (x+2)?=25 [3]
c) Solve 11n2-9n =1 by the quadratic formula. [6]
d) A rectangular garden has an area of 14 m? and a perimeter of 18 meters. Find the
dimensions of the rectangular garden [8]

15. Arithmetic and Geometric series

a) The 35th term of an A. P. is 69. Find the sum of its 69 terms.

b) The first term of an A. P. is 10, the last term is 50. If the sum of all the terms is 480, find
the common difference and the number of terms.

c¢) Findthe sumoftheG.P.:1,3,9, 27, ... up to the 10th term.

d) Find the sum of the G. P.:1/v3;1,v3,....81 [20]

END OF PAPER
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Mathematics Formulae

Annually compounded interest formula:

A t=P |1 R
mount = +1|:||:|

A= final amount
p= initial principal balance
R = annual interest rate

_ time (in years)

Simple Interest

:A=P(1+Rt)

A= final amount

p- initial principal balance
R = annual interest rate

t= time (in years

WHITEBAARD MATUS

FORMULA FOR THE SUM OF
a(r*—1)

r—1
A GEOMETRIC SERIES

n
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Formula for Arithmetic Series

S, = n(—a' +a”]
. 2

/al+al+(nl)d]
=n
L 2

/2al+(n—1)d]
=n
L 2

[ S, =g[2al +(n—1)d] ]

© chilimath.com

Solve an equation of the form ax?*+bx+c=0 by using the quadratic formula:
X = (=b + V(b’ - 4ac)/2a

X = (=b — V(b? - 4ac)/2a
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